

François de Brantes Executive Director 13 Sugar Street Newtown, CT 06470 0: 203 270-2906 C: 203-731-4465 F: 203-364-1525 Francois.deBrantes@hci3.org

December 27, 2013

Salud Y Vida P.A. 6060 Surety El Paso, TX 79905

Dear Sir or Madam:

On behalf of the Board of Directors of the Health Care Incentives Improvement Institute, I would like to congratulate you on the achievement of your Recognition. You join the ranks of several thousand physicians, nurses and physician assistants that have demonstrated an ability to deliver outstanding results in the management of their patients.

There are now many health plans across the country that have embedded Bridges To Excellence Recognitions into their assessment of physician quality and as markers of quality designation in their provider directories. As a result, you may qualify for financial incentives in addition to recognition from these plans and I encourage you to ask them for details.

In addition to the benefits you might get from health plans with which you contract, we also have agreements in place with a number of web sites that offer information to consumers on physicians and who have agreed to display your BTE Recognition status. We will regularly update this list on our website and suggest you periodically check for an up to date list.

Again, please accept our congratulations on your BTE Recognition.

Sincerely Yours,

Francois de Brantes Executive Director







Diabetes Care Recognition

Awarded to:

Salud Y Vida P.A.

ON ACHIEVEMENT OF RECOGNITION FOR EXCELLENCE IN THE DELIVERY OF QUALITY CARE

Effective: 11/18/2013

By:



V m

François de Brantes Executive Director Health Care Incentives Improvement Institute, Inc

Score Detail Report

Level 1

Clinical Measure	Threshold	Minimum Criteria	Sample Meeting Threshold	Your Performance	Maximum Available Points	Points Earned
Poor Control Measures						
HbA1c Control	> 9.0	<= 27.5% of pts in sample	0/250	0%	15.00	15
Blood Pressure Control	>= 140/90	<= 40% of pts in sample	60/250	24%	15.00	11.40
LDL Control	>= 130 mg/dl	<= 40% of pts in sample	37/250	14.80%	10.00	8.52
Superior Control Measures						
HbA1c Superior Control 1	< 7.0	>= 40% of pts in sample	183/250	73.20%	5.00	3.66
HbA1c Superior Control 2	< 8.0	>= 40% of pts in sample	249/250	99.60%	5.00	4.98
Blood Pressure Superior Control	< 130/80	>= 30% of pts in sample	93/250	37.20%	10.00	3.72
LDL Superior Control	< 100 mg/dl	>= 35% of pts in sample	141/250	56.40%	10.00	5.64
Process Measures						
Ophthalmologic Examination	N/A	N/A	249/250	99.60%	10.00	9.96
Nephropathy Assessment	N/A	N/A	250/250	100%	5.00	5
Podiatry Examination	N/A	N/A	243/250	97.20%	5.00	4.86
Tobacco use and Cessation Advice and Treatment	N/A	N/A	250/250	100%	10.00	10
Body Mass Index	N/A	N/A	249/250	99.60%	0.00	0
				Total Points:	100	82.74
		Points Neede	ed to Achieve	Recognition:	60	

Score Detail Report

Level 2

Clinical Measure	Threshold	Minimum Criteria	Sample Meeting Threshold	Your Performance	Maximum Available Points	Points Earned
Poor Control Composite Measures						
HbA1C Control	> 9.0					
Blood Pressure Control	>= 140/90	N/A	86/250	34.40%	40.00	26.24
LDL Control	>= 130 mg/dl					
Superior Control Measures						
HbA1c Superior Control 1	< 7.0	>= 40% of pts in sample	183/250	73.20%	5.00	3.66
HbA1c Superior Control 2	< 8.0	>= 40% of pts in sample	249/250	99.60%	5.00	4.98
Blood Pressure Superior Control	< 130/80	>= 30% of pts in sample	93/250	37.20%	10.00	3.72
LDL Superior Control	< 100 mg/dl	>= 35% of pts in sample	141/250	56.40%	10.00	5.64
Process Measures	'					
Ophthalmologic Examination	N/A	N/A	249/250	99.60%	10.00	9.96
Nephropathy Assessment	N/A	N/A	250/250	100%	5.00	5
Podiatry Examination	N/A	N/A	243/250	97.20%	5.00	4.86
Tobacco use and Cessation Advice and Treatment	N/A	N/A	250/250	100%	10.00	10
Body Mass Index	N/A	N/A	249/250	99.60%	0.00	0
				Total Points:	100	74.06
		Points Neede	ed to Achieve	Recognition:	60	

Score Detail Report

Level 3

Clinical Measure	Threshold	Minimum Criteria	Sample Meeting Threshold	Your Performance	Maximum Available Points	Points Earned
Poor Control Composite Measures						
HbA1C Control	> 9.0	N/A	86/250	34.40%	40.00	26.24
Blood Pressure Control	>= 140/90					
LDL Control	>= 130 mg/dl					
Superior Control Measures						
Hemoglobin A1c Superior Control 1 (HbA1c)	< 7.0	>= 40% of pts in sample	183/250	73.20%	5.00	3.66
Superior Control Composite Measures						
HbA1C Superior Control 2	< 8.0		50/250	20%	25.00	5
Blood Pressure Superior Control	< 130/80	N/A				
LDL Superior Control	< 100 mg/dl					
Process Measures						
Ophthalmologic Examination	N/A	N/A	249/250	99.60%	10.00	9.96
Nephropathy Assessment	N/A	N/A	250/250	100%	5.00	5
Podiatry Examination	N/A	N/A	243/250	97.20%	5.00	4.86
Tobacco use and Cessation Advice and Treatment	N/A	N/A	250/250	100%	10.00	10
Body Mass Index	N/A	N/A	249/250	99.60%	0.00	0
				Total Points:	100	64.72
		Points Neede	ed to Achieve	Recognition:	60	